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/ MBEN, DC//EN, N DF s

, ME BN
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10 ] ABCD—A,B,C,D,
A, B, F., A, D.C,F,,CF,.
AB=2CD, AB//CD,
CD_AA,F,,A F,.CD ,
CF,//AD.
E.E, AD.AA, .
EE, /A D,
CF,//EE,, F.cC FCC,,
EE,// FCC,.
A
Fy
A
,DD, //CC,, DD, // FCC,.
AB//CD,AB=2CD, DCLAF,
AFCD , AD//FC,
AD// FCC,.
ADNDD, =D, A,ADD, // FCC,.
EE C A,ADD,,
EE,// FCC,.
1 [ 1 (D
6
T\ 4
2
)
2>
gl
@) Vv=v -V =4X4X6—
%»<Q%x2x2)x2:%?umﬂ.
3 . ABCD—A'B'C'D" AD',
AD’ //BC'.
aFF o
E i
Dy -
L (o)
4 B
E.G AA',A'D’ .
AD’ JJEG, EG//BC’,
EGC EFG,BC' ¢ EFG,
BC'// EFG.

2 [ 1 " PM: MA=BQ: QA=5: 8,

S.MQ//PB, ~.MQ// PBC.
AN BC E, PE.

**AD //BC,..EN : NA= BN P
: ND=5: 8, v
S EN: NA=PM: MA,
. MN // PE, . MN // D C

PBC. E
“*MNOMQ=M,PENPB=P, 4 0 B
MNC MNQ,MQC MNQ,

MNQ// PBC.
2 [ ] (D s
AB. BC., AC

PG, .PG, PG,
D.E.F. DE,
EF.FD.

PG, : PD=2": 3, P
PG, : PE=2: 3,
5.G,G, // DE.

GG, ABC . y c

GG, /) ABC. D E
G.G, /) ABC. B

GG, NG.G=G,,
GGG,/

PG, _ PG,
PD  PE

ABC.

:%, G.G=LDE.

2> D 3

I IR R
DE=5AC.:.G,G,= 3 AC,

G.G, = %AB .G\G, = % BC.
S NG GG o /ANCAB,

1:3,
S Sacee F Same=17%9.

39
1 I 1O AB E, SE.DE.
RtAABC ,D.E AC.AB .
DE//BC, DE| AB,
" SA=SB,
S /ASAB .
S SE| AB.
“*DE| AB,SENDE=E,
S AB| SDE.
SDC  SDE, 4 >
~.AB_ SD. B
ASAC ,SA=SC,D P
AC .
~.SD | AC.
“*SD| AB,ACNAB=A,
~.SD | ABC.

(2) AB=BC, BD]AC.
(D .SD|  ABC,
BDC ABC,



v

L »
~.SD_| BD.
**SDNAC=D,..BD | SAC.
1 [ 1l OO as
PAla, BC o , PA_| BC.
C A,B ,AB  ©O0
/ BCA ,  BClAC.
PA AC APAC s
BC_| PAC, BC/|AE.
AE | PC,PCNBC=C,
AE | PBC.
2 [ 1
“PD | ABCD,
S PD | AC, W AC L
AEC | PDB.
(2) AC BD 0O, OF. B
(1) ACL PDB O,
S SAEO  AE PDB
VW O.E DB .PB s

ABCD ,..AC| BD.

PDB,

()E//PD,()E:%PD, c

““PD |
SOE |

ABCD, O
ABCD,OE_| AO.

RtAAOE ,OE:%PD:%?AB:AO,
5 JAEO=15°.  AE PDB
45°.

30 1
=60°,

NABD ' "AB=2,AD=4, /DAB

S.BD= /AB*+AD*—2AB +« ADcos/DAB=2./3,
S AB*+BD*=AD?,
S AB_ DB.
EBD |
EBDN
SABL
" DEC
S AB_| DE.
2 (D
CD_| BD,

RtADBE

ABD,
ABD=BD,ABC
EBD,

EBD,

ABD,

,AB| AB,CD//AB,
DE | BD.

,""DB=2./3,DE=DC=AB=2,

NN :%DB + DE=2 \/g

“AB |
~.AB | BE,
‘"BE=BC=AD=4,

EBD,BEC EBD,

LSMM:L%AB-BE:&

‘*DE_| BD,
SED |
S ED | AD,

o]

EBD |
ABD, ADC

ABD,
ABD,
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o Spape = %AD « DE=4,

, E—ABD S=8+2./3.
3 [ 1 )ABL BCD,
S ABCD,
“*CD_| BC ABNBC=B,
SCDL ABC.
vﬁngg:Am<u<1u
A , EF//CD,
~EF| ABC, " EFC BEF,
A BEF | ABC.
(2> (1) ,BE|EF, BEF | ACD,
S BE| ACD, . BE | AC.

**BC=CD=1.,,/BCD=90°, /ADB=60°,
S.BD=\2,AB=,2tan60°=6,
SAC= /AB*+BC =7,

i : _6 .._AE_ 6
AB*=AE « AC AE ﬁ,..,\ AC 7
A:% , BEF | ACD.
4 [ Y (L' PA | ABC,
s.PA_| BC.
~/BCA=90°,..AC_| BC.
S.BC | PAC.
(2)'"D PB ,DE // BC,
. I P
S DE= 5 BC,
(1> ,BCL PAC,
S DE | PAC, E.
S/ DAE AD PAC s
‘' PA | ABC,
S PA|AB, PA=AB,
S ANABP s
.'.AD:ézAB,
W SABC=60°,
e e 1
S.BC= 5 AB.
| _DE_ BC _Z
RtANADE ,SIHADAE—AszAD 1’
SAD PAC g
(3)"DE//BC, (1) ,BCL PAC,
S DE | PAC,
CAEC PAC,PEC PAC,
~DE | AE,DE | PE,
o AEP A—DE—P s
PC E, AE | PC, ~AEP
=90°,
E A—DE—P



4 [
DD | ABCD, D, Jo
~.BC | D,D. A ;
“*AB//CD,AB_| AD, :
ABCD . i

1 (1) ABCD— A,B,C,D,

“*AB=AD=1.CD=2,
BC | DB. Do

“*D,DNDB=D, 4 B

SBC|  D,DB.

(2) DC  E,

“*DB=BC.

S.BE | CD.

“* ABCD—A, B,C, D, ,

k ABCD|  D/DCC,,

LBEL  D/DCC,

“DE DB

5. /BD,E
RtAD, BE

BE,D, E.

D,DCC, ,

.BE=1,D,E=.\5,

BE _\5

D.E 5°
V5
=

tan/BD,E=

40

1 [ 1@:W+M7;:W+§m

:%m+%<mfm>

1l x, 271 a5y Lax
—LOA+2 [2 ©OB-+00) — OA}

:%mw%@%a@—%m’
1

_1loziloneLlor
760/\4—30 +3()C,
e = 1 1
. 'OG_76 ()AﬁL*3 ()EJF*S OC.

1 [ 1 “AF—ACHCF=AC+ LD,

— (AD+AD) +%(AAT —AD

1 —

—AD+- A+ AR,

_ 1

o= ,y:%,.'.f*y:O.

2
2L 1D D(xvy.2).
DB=(—x,1—y,—2),AC=(—1,0,2),DC=(— 2, — y,
2—2),AB=(—1,1,0),
DB //AC.DC//AB,

x=—1,
XY
—1 1 ==k
1—y=0, z=2

2—=z=0

:>D(717192).

VI
(2) v AD=(r—1.y.2),BC=(0.—1.2).,
‘DB | AC,DC| AB, AD=BC,
~DB|AC.DC | AB, |AD|=|BC|.
444 /10
o 9 ’
(1‘*2210,
'-.Jffy:()’ ij:H% VlO’
1(1‘_])2“#_)}2“!’22:5
_2+2 /10
h 9
4—4 J10
XT— "7 45
9
J _4—4 /10
YT ¢
._2—2 V/10
~ 9 .
.'.D(4+4 V10 4-+4 /10 2+2 «/10)
9 ’ 9 ’ 9
D<4*4 V10 4—4 /10 2—2 «/10)
9 ’ 9 ’ 9 ’
2 [ ] (O'x a s x=rka ,
a-x=—18

a+ka="klal*=r(/AF+1+4)*=9k=—18,
k=—2.

Sox=—2a=(—14,2,—1).

(2) P(x,y,2), ﬁ:(I*Z,erl,z*Z)»

AB=(2,6.—3),AC=(—1,3,1),

.'.(I*Z,erl,z*Z):%[(2,6,*3)*(*4,3,1)]

B O T D
=5 6.3, -D=(3.5.-2).
JIZ—S, JI—5,
. _3 _1
..1y+1— 25 ly 2 ’
r—2=—2, z=0.

SP (5%0)
(3)Da * b=(3,5,—4) + (2,1,8)
=3X2+5X1—4X8=—21,
@ lal= /3 +55+(—1*= /50,
|b| = /2" +17+8"= /69.
a*b  —21
al[b] /50« /69
n=(0,0.1),a+b=(5.,6.4).
Qa+ub) + n=0,
{uaﬁlb) « (a+b)=53,
(BA+ 2,50+, —42+8) + (0,0,1)=0,
{(3A+2ﬁ,5x+#,—4a+8ﬁ) .+ (5.,6,4)=53,

J/\:L

b=

1 (D B(0,1,0),N(1,0,1),
A—0)"+O—D*+(1—0)"=/3.

7 £/138
230 °

J.cos{a,b)= |

® =

29A+48,=53,
3 [
. |BN| =

3
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AN . B ( )\ www.canpoint.cn
LM
(2)A,(1.0.2).B(0.1.0).C(0,0,0).B,(0.1.2), 3),
SBA=(1,—1,2),CB = (0,1,2), BOE n=_(z,y,2),
S BA, 'C—BT:37‘3A1|:\/§’|@T‘:\/§- n-?)—g:(),
- cos(BA".CH )= BAL* CB__ /30 n - OE=0,
.o S 10U D ‘_>BA1H@T| 1() . {8]‘:0,
—4y+3z=0.
(3)'.’C1(O,0,2),M(i,i,2>, y
272 x=0,y=3,2=4 BOE n=1(0,3,4).
.°.KB:<—1,1,—2>,W/I:(i,i,o), CFG=(—4,4,73), n s FG=0,
2772 )
T FG BOE
. G, M=0, )
A GMEO0 ~FG/  BOE.
S AB|CM. 2 [ 1 C .CA.CB.CF
41 , ,
C(0,0,0),B(0,a,0),A(/3a,0,0),
G ABEF | ABCD, AF | AB. “ V3a
AF|  ABCD. A . AB D(J%,—%a,o),F(O,O,a),E(ﬁa,O,a),
s AD ] AF Z ’
Y “*AMZ  BDF,
A—xyz.

SAM// BDF=AM FB.FD

AB=a,BC=b,BE=c, — >
myn, AM

B(a,0,0),C(a,b,0),E(a,0,¢),
D(0,2b,0),F(0,0,2¢),
EC=(0.b, —¢), FD = (0, 2.
—2¢),

=mFB+nFD.
EM=(EF,

CEF=(—/3a,0.0),

S EM=(—3at,0,0),

ﬁfi
EC—Zﬁ?, E4 FD, - AP 4 TN —
EC//FD. (—3at,0.a).
C.D.F.E
Y A aEN _ «/37 B 1 B =5 B
1 ( ’ ,UELG AB,AC ﬁ (7a, 7(1, a)vf% (0,a, al,
’ (—3at, 0, a) =m (0, as — a) +
~EGLYpe,  HF4LBC. . EGLHF. T
2 2 71(761!*?61’*61) )
EGFH .
. w3
EF.GH 0., O V3ar San
. 0P.0Q. opP ] —
:*—O_é P.0.Q ) lOma-Zan, 3
PQ . ,07:5(,’}+5F,UC’2 a=—am—an,
=0OH+HQ. O GH \ Ne
X | S EM=%a .AM// BDF.
~.0G+0H=0,GP4—~CD,QHA—~CD, :
Z 2 30 ] . D
2.GP=—LCD.QA~CD. D—ayz.
X X AB= a,PD=h,
. OP+0Q=0G+0HA+GP+HQ=0+CD— 4 CD=0. Aa+0,0).B(a1a+0).C(0,a+0),D(0,0.0), P(0.0.h).
OP——00.5PQ O . O PQ ‘ W AC=(—a.a,0),DP=(0,0.1).DB=(a.a.0).
] ~AC - DP=0,AC - DB=0,
'L 3 ’ or. O ’ “.AC| DP,AC| DB,
OB.OC.OP N S SACL PDB.
O— 2y, ACC  AEC,
0€0,0,0),A0,—8,0) . B(8, AECL  PDB.
0,0),C(0,8,0), P(0,0,6), e B OPB
=.PB.

E(0,—4,3),F(4,0,3),
,G(0,4,0),
~O0B=(8,0,0),0E= (0, —4,

]

S EQasias(1—0h),
SAE=(G—Dasaa. (1—0h) .




1____|
CE=Qa.Q—Da.(1—h). ‘. cosf= |AB-MD| _ 1
AEC n="(x,y,2), |AB| - |MD| 2
n+AE=0.n+CE=0, _‘,(9:’;,
B (2A—Da
o (1’1’ A—Dh > S AB MD %
AC=(—a,a,0) PDB , _ _
. 1 [ 1°-CD'=[CD|*,
ne+AC=0,
3 I 1 D .DA.DC.DD, x .y CA'+AB+BD'+2CA - BD+2CA - AB+2AB - BD
= ’ 2, A0, = S8 F2X6X8 - cosl20° =217,
O)‘Al(2,0,31;D1(O,0,2)‘E(2,2,1)\F(O,l,O). CD=2 /17
[@D) .DA-D.ﬁ:(Z,0,0)-(O,l,—Z):O, CO%(XB C7})>: AL-CD @(CA+@+@)
S AD|DF. R |AB| - |CD|  |AB| - |CD
(2)wAE - D F=(0,2,1) » (0,1,—2)=0, AR’ |AB| 2 /1T
SNAE| D F, AE D,F 90°. 'AB| - |CD| |CD| 17 °
3 “DE-D F=(2,2.1) « (0,1,—2)=0,
(3) F=c ) o ( ) “AB D 2 /1T
~.DE | D,F. 17
“*AE|D,F,..D,F| AED. 20 1 ABC—A,B,C, AA,
D FC  ADF. 1 ABC. DEC ABC. DE | AA,.
AEDL AlDlF- DEJ_AIE,AAIHAIE:A],
DE | ACC,A,.
42 DEC  A,DE,
1 I 1 APICD P, . AB, ADEL ACCA,.
AP.AO . , (2) . O AC . 0O
2 NG ’
A(O,O,O),B(LO,O),P<0,£,0>,D(——,—,o>,
2 272 A(2,0,0),A,(2,0,/7),D(—1
o<o,o,2>,M<o,o,1>,N(1— f/f,o). V3.0, E(—1,0,0).
A15:<73M/3797\/7>9m‘:
—/3.0).AD=(—3./3.0).
n=(x,y,z) A,DE
Jn-_D_E:*ﬁy:(),
In « A, D=—3x+/3y—T2z=0.
(HMN (17 Tt
=(/7,0,—3)
D= (22 ).
272  n<AD  —3J7 /21
cos(n,ﬁ}— = =— .
OCD n=(z.y,2), n| « |[AD| 4x23 8
n+0OP=0.n+0D=0, 21
. AD A DE
8
J —22=0, 2 [ )| 1. D—[X,D—é,ﬁ
. Di <y
\L y 9e—0 Ty
D(o,o,o>,Bl<1,1,1>,E(o,l,1),
*=\2, n=(0,4,/2). 4
. (]
" MN - nI(l—@,@,—l) - (0,4,y2)=0, f(?’“))’
S“MN/  OCD. B =(1.1.1).EF= (7,%,—1),
(2) AB MD 0.

DB, D,AC

AB=(1.0.0).MD= (7&

2’71>’

272



v
~ B (N
LM
—
DE, « EF p}’
s(DB,, EF) = =% =% = £ ¢
cOos 1 ‘DBIH_ET‘ ’,:‘\ . 1
) 4 ‘:: AR
L if 1 ',: ¢",Bl
DXt 1X 1X1:JW X
1 9 87 ° ’,' :,/' \‘\‘
N T R R o
EF D,AC )
X
V87
87 °
3 ( ) I} ’ A(Z’Ov
0).C(0.2.0).A,(2.0.2).B,(0,0.2).C,(0.2.2), AC
M’
**BM | AC.BM | CC,.
S.BM | A CC,
BM=(1,1,0) A,C,C
n=_(x,

A B,C

yvz)s
CAC=(C(—2,2, —2), AAB, =
(729050)7
SneAB=—2x=0,n+AC =—22+2y—22=0,
z=1, x=0,y=1,
Son=1(0,1,1).
n BM ¢ B,—A,C—C,
0, 0 s
*. cosf)= | cos \:7"1 - BM| _
.o S gp ‘n‘ |m‘ 2 ’
=T
0 3
B,—A,C—C, 5
4 [ )| ., D DE_|AC, E,
BF | AC, F.
D C 2
F
C
A
E
A B 'B
‘*AB=2.3,AD=2,
S DE=BF=\/3,EF=2,
D—AC—B 60°,
DE | AC,BF | AC,

(DE.FB)=120°.
DB=DE+EF+FB,

- | DBI*=(DE+EF+FDB)!=|DE|*+ |EF|*+ |FB|* +

2DE«EF+2EF - FB+2DE - FB
—34+4+3+2X/3X3 * cos120°=7,
= DBI=V7.
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~ACD=90°,

4 [ )| ,
D
4
N7
B ¢ y
) 2
AC - CDh=o. ,BA - AC=o0.
AB CD 60° .

(BA,CD)=60° 120°.
BD=BA+AC+CD,
BD =BA +AC +CD +2BA « AC+2BA - Ch+
2AC-CD=BA+AC+CD +2BA - CD=3+2x1x
1((BA,CD)=60").

l><COS<BA7C$>7 2(<B_A,Zf>:1200).

[BD|=2 /2,
B.D 2 2.
' O Keb JAC ’
AM | MC.

PA | ABCD,
PALCD. CDLAD.

CDL  PAD.

CD_| AM.

CMNCD=C,

AM | PCD,

ABM | PCD.

(2) ,

, AC0,0,0),P(0,0,4),
B(2,0,0),C(2,4,0),D (0,4,

0),M(0,2,2).

B ACM n=
(Iy)/?z)’
. sy 2x+4y=0,
n| AC,n | AM {

2y+2z=0.

z=1, n=@2,—1,D.
«»  CD=(—2,0,0),

in— CD+n :@

T ICD nl |3
/6
5

(3) JAN_| NC.
RtAPAC ,PA*=PN - PC,

N=2S
PNfgv

10 NC_ 5
NC=PC—PN=" 56—

P ACM %
P ACM h,
- AP« n 2.6
h* — T 5
[n| 3



5, _10/6
1 27 .
43
|3—1]
1 OO [ )| d= =
V1+1
V2, m L 30°, [, 45°,
m 30°+45°=75°  45°—30°=15",
1 [ )| , l PA

2 [ ] (D as sina:%,.'.cosa
4
:i?, k:tana:i%s y
—5, y:i%1*5
2) y=3x as
e __ 3
2as " tana*&--tanza*_z. (—1,—3),

y+3:*%(1+1) . 3xt4y+15=0.
(3) [l x,y £<0.

Liyv—1—k(2—2), A(z— ,o),B(o,1—2k>,

(}"r—‘

LS=1 (- (2*%)2%[4+ () ]>4,
—4k:}k, k:—%

Z:y*lZ*%(I*Z), x+2y—4=0.

2 [ ] (D ,
_ 2
y=kx, A(—5,2) s k:*E,
20+5y=0;
I
. 2a+a 19
A(—5,2) , u:—%, x+2y+1=0.
(2) l tan -3 tan 2= —
2 as ana 4 . a 2 3 ]

1|
tan2a2274, L :x—3y+10=0,1,
24x—T7y—150=0.
3 B.C I )| (0,2) M
d:+:1.
V/cos’ 0+ sin’0
M C:a’+(y—2)'=1 ,
M , A ;
0,2) , B ;
n=3, n c, C ;
M ABC AEF,
D s
B,C.
44
1 [ 1 a=0 ,A(2,0),B(2,2),C(0,1),D(1,
D.
kap y k=0, 00 11,
a=—1
A0,0),B(2,2),C(0,0),D(1,1).
kag=kep =1,
(0,0),. .1, L,
a0, a#*—1 ,
b=y o= L,
2—(2a+2) a
kmzlf(lJra):_
1—0
L/ s kas=keps
*%:*a, a=1 a=—1C )3
Ll kayekop=—1,
(—%)w—a):—l,a
, a=1 s a=0 0 L L.
1 [ )| L ,1, M,
N, N L, :2x+y—8=0 , N@@,8—21),
A MN . M(—t,2t—6),
M L :x—3y+10=0
—t—3(2t—6)+10=0, t=4,
M(—4,2),N(4,0),
xt+4dy—4=0.
2 [ ] : l , l
x =3, Lisls A3, — D
B'(3,—9. A'B’ |A'B’ | =|—4+9|=5.
[ s [
y=k(xz—3)+1.
{y:k(.T*S)-l-l, A(M’ﬂ>
y+a+1=0, k17 k41"
{y:/e(x*S)Jrl, B(Sk*7’1*9k>
vt at6=0, SRV ESWA

|AB|=5



v

AN . B (N
I
Gt 5) TG ) =
k=0, y=1.
s l r=3 y=1
s Ly,
g—1=6l_5/2
Z oz
/A Ly, AB 5.
A [ 0.
2
sinf= ng, 0=45°
lL:xt+y+1=0 135°, l
0°  90°.
[ P(@3,1),
l r=3 y=1.
AN

A(I] ’y1)9B(Ig 9yz).
xty+1=0,2,+y,+6=0.

s (ry—a)tH(y,—y,)=5, ©)
(x,— 2"+ (3, —y,)* =25, ®
T, —x,=5, x,—x,=0,
oo [T -
Y1~y =0 V1Y =0,
s l 0% 90°.
x=3 y=1.
2 [ 1 [l I A.B
1:3, s
l y+5=k(x—2),
kx—y—2k—5=0.
LA, —2) l
P el G e TR Sk 1
VETT VEFT
B(—1.6) l
d— | —k—6—2k—5| _ \3/e+11\‘
" VEFT VEFT
vd, v d, =12,
.'.%:%,.'.kvalSkJrN:O’
ky=—1,k,=—17.
4
x+y+3=0 17x+y—29=0.
3 [ 1 (D (x—2y—3)m+2x+
y+4=0.
x—2y—3=0, x=—1,
20+ y+4=0 y=—2.
m s M(—=1,—2).
(2 l, y=k(x+1)—2(,<<0).
y:O,I:}:;Z, x=0,y=k—2.
s:%‘% -\k—Z\:%‘*/ﬁ—%-ﬁ%‘}%M
+4)=4.
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_4 - -
/z—_k, k 2 ., k 2
s L 2x+y+4=0.
4 ( ] (D A/(I’y)y
yt2 2 _ _ 33
L:—H 3 1, (I 13°
xa—1 y—2 _ :i
IZX 5 3><72 +1=0, Y130
(33 4
A( 13’13)
(2) m ,  M@2,00, M(@2,0) l
771/ .
M Ca,b),
2><(“+2>—3><(b+0>+1:o,
2 2 6 30
Tb 0.2 <EE>
X——=—1,
a— 3
2x—3y+1=0,
m N,
3x—2y—6=0,

N(4,3),
9x—46y+102=0.

N4,3), 2 m’

(3) [:2x—3y+1=0

M(1,1),N(4,3), M,N A(—1,—2)
M, N’ AN
M (—3,—5,N(—6,—7),
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y1212(2<1‘<5) ,

—%<q‘—7>2+1o<5<,1-<7>.

input “x=";x
if x>=0 and x<=2
y=0.5% x2
else
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end

y=—0.5% (x—7)"2+10

) d= H
s d.
z=Ax+By +C
v
22=AZ+B2
input x,,y,.A.B,C ¥
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print d LS
end
2 I ] A,D AG | BC,DH | BC,
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S BG=AG=DH=HC=2 cm,
BC=7 cm,
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input “

if t<<=3

y=0. 22
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y=0.2240.1% (t—3)
else
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end

end

print “ : Y

end
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while i<{=54
input x
if x>90
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M=M+1
end
i=i+1
end
P=S/M
print P

end
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=2 1397.
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4 [ )| , z
s |z —1| 2 0,1)
0,—1 , 2
[z—1] 2

www.canpoint.cn

68

1 1 1

1 [ (0O + f(1)= —+ = -+
A A N T LTIy Sy

1 _ /851,33 V3
3+y3 2 6 37

gf(*lH-f(Z):Jgj’

f(*2)+f(3):§.
b 1’
o ta,=1 f(l\)“’f(l‘z):\/sj.
rtx,=1,

Lo, 1
33 33
_ @) +G )

(3 +4/3) « (37 +V3)
_ 37 +3°+2/3

357 4/3(3% +3%)+3
3 +3"+243

V3(3% 43%)42X3
_ 331243

V335 3% +24/3)

S+ fla) =

1?0 %(77+1)(n+2) [ ] n=3

atbtc=1,2,tx,=a+b,y,+y,=b+tc.z, tz,=c+t+a,
A(a)

B I 9 Qo
o ta,Fyty, otz =2(atb+o)=2,
20=x1ty,=a,tz;=y,t=z,
6g=x,ta,+y, ty,+z+z=2>(a+b+c)=2.

g % F3) =atbtcta -ttty tate
+e=1t2+ 1=
f()=5, 7D 2
6 G 10 15
oy f—D a4 (>1) .
(a, ;+n+1 ,



_ 3 _6_3+3_ 3
== f ===+,
f<3>:§:f<2>+%,f<4>:5:f<3>+%,~~

f<n):f(n—1>+"§1,
f(n):f<n—1>+”§1:/‘<n—2>+"§1+g—7:--~
_ntl »n_ n—1, 3 .
o e R - A
_ntl »n n=1, 3 2 1
T e
:%(71—0—1)(714—2).

2 [ )|

1 1 1 1
S:7a1h1+7a2hg+7a3h3+7a1/11
:%(khl+2/eh2+3/eh3+4kh,‘>

N

*7(/1,1—0—2/124—3/13—0—4}11),
.-.h,+2hz+3h,3+4h,:2k—5, §<zﬁh,>:2k—s.

s

_1 1 1 1
V= 3 S\ H,+ 3 S,H,+ 3 S.H,+ 3 S, H,

:%(KH1+2KHZ+3KH3+4KH1)
— B embsH b am)
SH F2H +3H+4H =3, 2GH) =3
2 v i~ [ ]
(— D,
/A A neEN",
S FCL L FCL e CE T =2 A (=2
3 (D 4 D
. ( )
/BCA /CAD AD ., BC
AC ( ), B C
./BCA=_/CAD( ).
(2 ( ).
ACAD .DA=DC( ).
./DCA=_/CADC ).
3 ( ),
/BCA /DCA / CAD( ),
./BCA=_/DCA., CA  /BCD( ).
(4) .BD  /CBA.
3 c [ ] asbycsdse s
.S , 1 .
,S L0l ec<ld<le<<lhb<a, ¢
1 S

[ —
4 I ] (D C x s
A Fl‘Fz 47 26{*4;
3
a=2 A(Lg) )
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